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PRONUNCIATION (1point)

Choose the word which is stressed differently from the rest.

1. A. production 
B. consumer 
C. domestic 
D. business

2. A. hospital 
B. inflation 
C. policy 
D. constantly

VOCABULARY AND GRAMMAR (5 points)

I. Choose the best answer (3points)

1. Economic reforms began in the Soviet Union in June 1985 by the Soviet leader Mikhail Gorbachev to _______ the Soviet economy.

A. repair 
B. reproduce 
C. restructure 
D. reply

2. I am so _______ that I cannot say anything, but keep silent.

A. nerve 
B. nervous 
C. nervously 
D. nervousness

3. Before the interview, you have to send a letter of application and your résumé to the company.

A. recommendation 
B. reference 
C. curriculum vitae    
D. photograph

4. What do I have to bring _______ me to the interview? 
A. with 
B. upon 
C. in 
D. along

5. They have just found the couple and their car ______were swept away during the heavy storm last week.

A. that 
B. which 
C. whose 
D. when

6. _____some German and British management styles are similar, there are many differences between them.

A. In spite 
B. In spite of 
C. Despite the fact that  
D. Despite

II. Give the correct form of the verbs (2 points)

1.Vietnam ………………. an average growth in GDP of 7.1% per year from 2000 to 2004  (have)

2 .He is the man whose car ………………… last week. (steal)

3 .Although we have worked overtime for weeks, we ……………………. the project. ( not complete)

4.Just imagine what human life ………………… like in 20 years.(be)

WRITING : (4 points)

1.Rewrite the sentences below, beginning with the words given


Although she had all the necessary qualifications, she didn’t get the job.


→ Despite ………………………………………………………………………………………
2.Rewrite the sentences below, beginning with the words given


In spite of their differences in languages, they understood each other.


→ Though………………………………………………………………………………………
3.Rewrite the sentences below as directed without changing its meaning


      The man who was carrying a lot of money on the bus was a businessman. ( reduce relative clause)

→ ………………………………………………………………………………………
4.Rewrite the sentences below as directed without changing its meaning

   
      Vietnam exports a lot of rice. It is grown mainly in the south of the country. ( use relative clause)


→ ………………………………………………………………………………………
====THE END====
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B. consumer 
C. domestic 
D. business
2. A. hospital 
B. inflation 
C. policy 
D. constantly

VOCABULARY AND GRAMMAR (5 points)

I. Choose the best answer (3points)

1. Economic reforms began in the Soviet Union in June 1985 by the Soviet leader Mikhail Gorbachev to _______ the Soviet economy.

A. repair 
B. reproduce 
C. restructure 
D. reply

2. I am so _______ that I cannot say anything, but keep silent.

A. nerve 
B. nervous 
C. nervously 
D. nervousness

3. Before the interview, you have to send a letter of application and your résumé to the company.

A. recommendation 
B. reference 
C. curriculum vitae    
D. photograph

4. What do I have to bring _______ me to the interview?
A. with 
B. upon 
C. in 
D. along

5. They have just found the couple and their car _______ were swept away during the heavy storm last week.

A. that 
B. which 
C. whose 
D. when

6. _______ some German and British management styles are similar, there are many differences between them.

A. In spite 
B. In spite of 
C. Despite the fact that  
D. Despite

II. Give the correct form of the verbs (2 points)

1. Vietnam had an average growth in GDP of 7.1% per year from 2000 to 2004

2.   He is the man whose car was stolen last week.

3.  Although we have worked overtime for weeks, we have not completed the project.

4.  Just imagine what human life will be like in 20 years.

WRITING : (4 points)

1.Rewrite the sentences below, beginning with the words given


Although she had all the necessary qualifications, she didn’t get the job.


→ Despite having all the necessary qualification, she didn’t get the job
2.Rewrite the sentences below, beginning with the words given.

In spite of their differences in languages, they understood each other.


→ Though they  differed in languages, they understood each other.
              (or) their languages were different, they understood each other.

3.Rewrite the sentences below as directed without changing its meaning


      The man who was carrying a lot of money on the bus was a businessman. ( reduce relative clause)


→  The man carrying a lot of money on the bus got on the bus
4.Rewrite the sentences below as directed without changing its meaning

   
      Vietnam exports a lot of rice. It is grown mainly in the south of the country. ( use relative clause)


→ Vietnam exports a lot of rice which is grown mainly in the south of the country
